wdhcscoa'f, lO/’3 - @
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SuPPosc e l’\G-\/Q G ﬂo:lo. sei
X = SXJ)Y;’Xb)oo., th

o8 real powbers, & conge [o)b) of possible

values of X, cnd £ of thE /oozwl;s of ore
acloally in [eb). (Wrde BE b-o.,so B is the
bin tordth (:'let:ﬂ‘\"l\ of the ro.v:jQJ.

We Lefine the RFD of the rﬁa EC\,A) A)/
RFD=_§£ . (x)

3 hn

Exﬁi le .

r‘c.wroo:& navel rotios ( = /;c,_z&b.'t
@Q:wclc& Bc.( heieht of na.ve,[) of 48 cU
stoderds. HERRS an RFD table :

Rorge. [a,b) Fregucuay f] RM
[1.50 .55 ) a 2/(.05-438)= 0.8 3
[).55, ].60) I\ N/(.05-4%)=4.5%
[l6&, 1.65) 17 17/(.05+4%) = 7.0%
[1.65, 1.70) 17 17/(.05:4%)= 7.0%
[l.7o, 1.75) | 1/(.05+9%) = 0.42

Ho\'efs on RFD hstogrom:
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RFD
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:
_\/\I.SO .56 L66 (.65

/ch/eJ r&'})o
.70 .75

A‘sa.t‘h . l,.akv;( cﬂo we Zofe o.Aou"‘I RFD?

[

Answer: in an RFD Ims‘éggm.m, f,roéc._é./rltl

Cl S T—1 0

To see this, recall (%):
R¥D= £ .
B-n
ML)H:(fl)t $L{ B'
|~B'RFD|= £.

= greo o"F the bos h

over ‘H\c ro..ge_ ]v\
u&i\é(Ou\ cSv:c_

l\:s‘bggraw; olaovc )



®
Examp\e, e

Fer"' -H\c, a.b@uc. cﬂc&o. 5c:6 }C o= co(...fc‘]t.’

,P(I.555X<I-65)\ = areo. of bors clbeve

[1.55 [.65)
g b os 200

from X will e 1« = 0.583 = 5?03729
[1.551.65)

For roﬁ% tha &ou‘f‘: [ine ue Pc:‘g:oﬂo, Lo ith

Ams, we. ZGn QfProXlMa&c) .G

P(1.574 X< 1.6])
% 0.03:4.53+,0.01°: 7.8 = 0.208 = 3O.T Zo.
l::g‘”x o{' ro::jc_ [/,éq [.é/)



